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CBOJCTBA HA TPUTOHOMETPUCKUN ®YHKUUU - 1
CsojcTBO y =sin x Yy = COS X y=tg x y = ctg x
1. JedmHunumoHa obnact X € (—00,400) X € (—00,400) T x#km
X#—+kn
(spegHocT Ha x ) Df 2
2. NMepuoaunyHocT T=2r T=2r T=nr T=nr

sin(x + 2km) = sin x

cos(x+2km) =cosx

tg(x+km)=tgx

ctg(x+km) = ctgx

3. NapHocT HenapHa sin(—x) = —sin x napHa cos(—x) =cosx HenapHa #g(—x) = —tgx HenapHa ctg(—x) = —ctgx
4. Hynu Ha oyHkumja y=0 x=kn =" L kr x =krw =" \kr
Nnpecek co X OCKa 2 2
5. Makcumym sinx=13a x=%+2k7r cosx=13a x=2kr / /
6. MUHUMYM Ginx = -1 3 x=37ﬂ+2k7r cosx=-13a x =7 +2kn / /

(kB 41) oa-1p013a (ke34) op-1p013a /

7. Pactere /

xe[-Z v 2kn,” v 2kn]
2 2

xel[r+2kn2m+2kr]

xe (—£+k7r,£+k7r)
2 2

(k8 1234)
8. Onarame \ (kB 23) oalpo-13a (ke12) om1p0-13a / xe(kn,m+krm)
2k + 2k
xe[%+2k7r,37ﬂ+2k7r] x e[2kz, 7 7] (ke 1234)
(ks 12) sinx >0 3a (kB 41) cosx >0 3a (kB 13) tgx >0 3a (kB 24) ctgx >0 3a
y>0 x € 2kr,m +2km) ps T P P
XG(—E+2kﬂ,E+2kﬂ) )CE(kﬂ,E-i-kﬂ) )CE(kﬂ,E-i-kﬂ)
1V3HHKa:M';: (kB 34) sinx <0 3a (kB 23) cosx <0 3a (kB 24) tgx <0 3a (kB 13) ctgx <0 3a
< xe(m+2kn2n+2kn b1 3z
y<0 ( ) XG(E+2kﬂ,7+2kﬂ) XE(—%-Fkﬂ,kﬂ) xe(%+k7r,7r+k7r)
10. BpeaHoctM Hay Vf yvel[-1+1] yvel[-1+1] y € (—00,40) y € (—00,40)
11.AcumnToTH - / / x=kr

BEPTUKANHMU

x=2tkn
2




